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R 21 d d 2 di L (] 30’ 1° 90 30 1~4%
0.2 0.20 0.21 0.23 0.26 5,080
0.05 0.3 - 4 0.07 | 0.085 | 50 10° 0.31 0.32 0.35 0.39 1 5,080
0.5 0.52 0.54 0.59 0.65 5,520
0.3 = 4 10° 0.31 0.32 0.35 0.39 4,040
0.5 — 4 10° 0.52 0.54 0.59 0.65 3,350
0.75 = 4 10° 0.78 0.81 0.88 0.98 3,690
1 — 4 10° 1.04 1.08 1.18 1.30 3,350
1 6 6 15° 1.04 1.08 1.18 1.31 3,700
1.25 — 4 10° 1.30 1.35 1.47 1.64 3,350
0.1 1.5 = 4 0.15 | 0.18 50 10° 1.56 1.62 1.77 1.95 1 3,670
1.5 6 6 15° 1.56 1.62 1.77 1.97 4,040
1.75 = 4 10° 1.82 1.89 2.07 2.30 — |
2 — 4 10° 2.08 2.16 2.36 2.59 3,670
2 6 6 15° 2.08 2.16 2.36 2.63 4,040
2.5 — 4 10° 2.60 2.71 2.95 3.24 3,670
3 = 4 10° 3.12 3.25 3.54 3.89 3,890
0.5 — 4 10° 0.52 0.54 0.59 0.65 3,890
0.6 = 4 10° 0.62 0.64 0.71 0.78 3,450
0.75 — 4 10° 0.78 0.81 0.88 0.98 3,540
1 = 4 10° 1.04 1.08 1.18 1.30 3,280
1 6 6 15° | 1.04 [ 108 | 1.18 | 1.31 —
1.25 = 4 10° 1.30 1.35 1.47 1.64 1 3,590
1.5 — 4 10° 1.56 1.62 1.77 1.95 3,280
2 = 4 10° 2.08 2.16 2.36 2.59 3,550
015 2.25 — 4 02 028 50 10° 2.34 2.43 2.66 2.95 — |
2.5 = 4 10° 2.60 2.70 2.95 3.28 3,550
2.75 - 4 10° | 286 | 297 | 325 | 361 — ]
3 = 4 10° 3.12 3.24 3.55 3.94 3,550
3.5 — 4 10° 3.64 3.79 4.14 4.60 4,000
4 = 4 10° 4.16 4.33 4.73 5.26 1 3,550
4.5 — 4 10° 4.68 4.87 5.32 5.91 4,040
5 = 4 10° 5.20 5.41 5.91 6.57 4,420
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